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DD–2095 

B. A. (Part I) EXAMINATION, 2020 

ENGLISH LITERATURE 

Paper First 

(Literature in English : 1550—1750) 

Time : Three Hours 

Maximum Marks : 75 

Note :  Attempt all questions.  

1. Explain with reference to the context any three of the 

following passages : 5 each 

(a) And so the general of hot desire 

Was sleeping by a virgin hand disarmed. 

This brand she quenched in a cool well by, 

Which from love’s fire took heat perpetual, 

(b) Yesternight the Sunne went hence, 

And yet is here to day 

He hath no desire nor sense, 

Nor halfe so short a way. 

(c) This aged prince now flourishing in peace, 

And blest with issue on a large increase, 

Worn out with business, did at length debate 

To settle the succession of the state. 
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(d) Read not contradict and confute; nor to believe and 

take for granted; nor to find talk and discourse; but 

to weigh and consider. 

(e) It had been hard for him that spake it, to have put 

nore truth and untruth together in few words, than in 

that speech, “Whosoever is delighted in solitude, is 

either a wild beast or a God.” 

(f) My chief companion, when Sir Roger is diverting 

himself in the woods or the fields, is a very 

venerable man, who is ever with Sir Roger, and has 

lived at his house in the nature of a Chaplain above 

thirty years. This gentleman is a person of good 

sense, and some learning of a very regular life, and 

obliging conversation : he heartily loves Sir  

Roger. 

(g) To bait fish withal : 

if it will feed nothing else, it will feed my revenge. 

He hath disgraced me and hindered me 

half a million, laughed at my losses, 

mocked at my gains, scorned my nation, 

thwarted my bargains, cooled my friends, 

heated mine enemies; and what’s his reason. 

I am a Jew. 

2. Attempt any ten of the following questions : 1 each 

(i)  What is the revival of classical learning also 

known as ? 

(ii)  Give the names of two University Wits. 

(iii)  Who introduced the printing press in England ? 

(iv)  Mention two comedies by Shakespeare. 
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(v)  Who is referred to as “The wisest, brightest, 

meanest of mankind” ? 

(vi)  What was the main doctrine of the Puritans ? 

(vii)  Define the term ‘Conceit’. 

(viii)  Name three Cavalier poets. 

(ix)  The Restoration period marks the restoring of 

which king in England ? 

(x)  Which was the most common theme of a Sonnet 

cycle. 

(xi)  Name the First English Tragedy. 

(xii)  Name two influential periodicals of the early 

1700’s. 

(xiii)  Who contributed the most in the development of 

the periodical essay in the eighteenth century ? 

(xiv)  Who was Demosthenes ? 

(xv)  What was the role of a Chaplain in affluent English 

households ? 

3. Answer any five of the following : 10 each 

(i)  Write a critical appreciation of Shakespeare’s 

sonnet “The Little Love God”. 

(ii)  Write a note on the metaphysical elements in the 

poems of Donne prescribed in your course. 

(iii)  Write a critical appreciation of Dryden’s 

“Shadwell”. 

(iv)  Write a brief note on Bacon’s style based on the 

essays you have studied. 
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(v)  Write a summary of Richard Steele’s ‘Of the 

Club’. 

(vi)  Write a character sketch of Shylock in ‘The 

Merchant of Venice’. 

(vii)  Write a note on the theme of Swift’s ‘The Battle of 

Books’. 

(viii)  Write an essay on ‘Periodical Essays and Essayists 

of the Seventeenth Century’. 
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CD–2097 

B. A./B. A. B. Ed. (Part I) 

EXAMINATION, 2020 

(Old Course) 

HISTORY 

Paper First 

(History of India from the Beginning to 1206 A. D.) 

Time : Three Hours 

Maximum Marks : 75 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    
djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    
(UNIT—1) 

1- Hkkjr dh HkkSxksfyd lajpuk dk o.kZu dhft,A 

Describe the Geographical Structure of India. 

2- gM+Iik lH;rk ds foLrkj ,oa uxj fuekZ.k ;kstuk dk o.kZu 
dhft,A 

Describe the expansion and urban planning of Harappan 

civilization. 



 [ 2 ] CD–2097 

 (A-39) 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    

(UNIT—2) 

3- mŸkjoSfnddkyhu lkekftd] vkfFkZd ,oa /kkfeZd n’kk dk o.kZu 

dhft,A 

Describe the social, economic and religious status of Uttar 

Vedic period. 

4- tSu /keZ ds izeq[k fl)kUrksa dk o.kZu dhft,A 

Describe the main theories of Jainism. 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    

(UNIT—3) 

5- ex/k lkezkT; ds mRd”kZ ij izdk’k Mkfy,A 

Throw light on the rise of Magadha empire. 

6- ekS;Zdkyhu vFkZO;oLFkk] dyk ,oa laLd`fr ij izdk’k Mkfy,A 

Throw light on the economy, art and culture of the 

Mauryan period. 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    

(UNIT—4) 

7- ‘kqax dkSu Fks \ iq”;fe= ‘kqax dh miyfC/k;ksa ij izdk’k Mkfy,A  

Who were the Shunga ? Highlight the achievements of 

Pushyamitra Shunga. 

8- xqIr lkezkT; ds iru ds dkj.kksa dk mYys[k dhft,A 

Mention the reasons for the downfall of Gupta Empire. 
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bdkbZbdkbZbdkbZbdkbZ&&&&5555    

(UNIT—5) 

9- izkphu Hkkjr ds nf{k.k iwohZ ,f’k;kbZ ns’kksas ds lkFk lEcU/kksa dh 
foospuk dhft,A 

Analyse the relationship between ancient India and South- 

east countries. 

10- egewn xtuoh ds vkØe.kksa dk o.kZu dhft,A 

Describe the invasions of Mahmud Ghaznavi. 
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DD–2097 

B. A./B. A. B. Ed. (Part I) 

EXAMINATION, 2020 

HISTORY 

Paper First 

(History of India from the Beginning to 1206 A. D.) 

Time : Three Hours 

Maximum Marks : 75 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    

(UNIT—1) 

1- izkphu Hkkjrh; bfrgkl ds v/;;u ds lzksrksa dk o.kZu dhft,A 

Describe the sources for study of Ancient Indian History. 

vFkokvFkokvFkokvFkok    

(Or) 

ik”kk.kdkyhu lH;rk ,oa laLd`fr dk o.kZu dhft,A 

Describe the culture and civilization of Megalithic age. 
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bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- fldUnj ds Hkkjrh; vfHk;ku ds dkj.kksa ,oa ifj.kkeksa dks Li”V 
dhft,A 
Explain the causes and results of Alexander’s Indian 

invasions. 

vFkokvFkokvFkokvFkok    
(Or) 

NBh ‘krkCnh bZ- iw- esa mŸkj Hkkjr dh jktuhfrd n’kk dk o.kZu 
dhft,A 

Describe the political condition of North India during 

sixth century B. C.  

bdkbZbdkbZbdkbZbdkbZ&&&&3333    
(UNIT—3) 

3- ‘kqax dkSu Fks \ iq”;fe= ‘kaqx dh fot;ksa ,oa miyfC/k;ksa dk o.kZu 
dhft,A 
What was the Shungas ? Describe the conquests and 

achievements of Pushyamitra Shunga. 

vFkokvFkokvFkokvFkok    
(Or) 

pUnzxqIr ekS;Z dh miyfC/k;ksa dk ewY;kadu dhft,A 

Describe the achievements of Chandragupta Maurya. 

bdbdbdbdkbZkbZkbZkbZ&&&&4444    
(UNIT—4) 

4- izkphu Hkkjr ds nf{k.k&iwoZ ,f’k;k ,oa Jhyadk ds lkFk lEcU/kksa 
ij izdk’k Mkfy,A 

Throw light on the relation of Ancient India with South- 

East Asia and Sri Lanka. 
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vFkokvFkokvFkokvFkok    

(Or) 

xqIrdky dks izkphu Hkkjrh; bfrgkl esa Lo.kZ ;qx D;kas dgk 
tkrk gS \ 

Why is Gupta period called the Golden Age in ancient 

Indian History ? 

bdkbZbdkbZbdkbZbdkbZ&&&&5555    

(UNIT—5) 

5- NŸkhlx<+ dh HkkSxksfyd fLFkfr ,oa fo’ks”krkvksa dh foospuk 
dhft,A 

Discuss the geographical condition and features of 

Chhattisgarh. 

vFkokvFkokvFkokvFkok    

(Or) 

NŸkhlx<+ esa ‘kjHkiqjh; oa’k dh LFkkiuk ,oa mRFkku dk fooj.k 
nhft,A 

Describe the establishment and rise of Sharabhpuriya 

dynasty in Chhattisgarh. 
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DD–2178 

B. A. (Part II) EXAMINATION, 2020 

ANCIENT INDIAN HISTORY, CULTURE AND 

ARCHAEOLOGY 

Paper Second (A) 

¼izkphu Hkkjrh; /keZ vkSj n’kZu¼izkphu Hkkjrh; /keZ vkSj n’kZu¼izkphu Hkkjrh; /keZ vkSj n’kZu¼izkphu Hkkjrh; /keZ vkSj n’kZu&&&&oSfndoSfndoSfndoSfnd    dky ls dky ls dky ls dky ls 1300 bZ1300 bZ1300 bZ1300 bZ----    rd½rd½rd½rd½    

Time : Three Hours 

Maximum Marks : 75 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    

(UNIT—1) 

1- oSfnd /keZ ds ckjs esa vki D;k tkurs gSa \ fyf[k;sA 

What do you know about religion of Vedic ? Write. 

vFkokvFkokvFkokvFkok    

(Or) 

ckS) /keZ ij ,d fucU/k fyf[k;sA 

Write an essay on Buddhism. 
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bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- ‘kSo /keZ ds fofHkUu lEiznk;ksa ij laf{kIr izdk’k Mkfy,A 

Throw light in brief on the various sects of Shaivism. 

vFkokvFkokvFkokvFkok    

(Or) 

oS”.ko /keZ dh eq[; fo’ks”krkvksa dh O;k[;k dhft,A 

Discuss the salient features of Vaishnavism. 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    

(UNIT—3) 

3- ‘kfDr /keZ ij la{ksi esa izdk’k Mkfy,A 

Throw light on the Shaktism in brief. 

vFkokvFkokvFkokvFkok    

(Or) 

nf{k.k Hkkjr ds HkfDr vkUnksyu dk o.kZu dhft,A 

Describe the Bhakti movement of South India. 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    

(UNIT—4) 

4- pkokZd n’kZu ij izdk’k Mkfy,A 

Throw light on Philosophy of Charvak. 

vFkokvFkokvFkokvFkok    

(Or) 

lka[; n’kZu ds izeq[k fl)kUr D;k gSa \ fyf[k;sA 

What are the main principles of Samkhya Philosophy ? 

Write. 
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bdkbZbdkbZbdkbZbdkbZ&&&&5555    

(UNIT—5) 

5- ;ksx n’kZu dh foospuk dhft,A 

Discuss the Yoga Philosophy. 

vFkokvFkokvFkokvFkok    
(Or) 

U;k; n’kZu ij izdk’k Mkfy,A 

Throw light on the Philosophy of Nyaya. 
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DD–2179 

B. A. (Part II) EXAMINATION, 2020 

ANCIENT INDIAN HISTORY, CULTURE AND 

ARCHAEOLOGY 

Paper Second (B) 

¼izkphu Hkkjrh; jktu; rFkk iz’kk/ku½¼izkphu Hkkjrh; jktu; rFkk iz’kk/ku½¼izkphu Hkkjrh; jktu; rFkk iz’kk/ku½¼izkphu Hkkjrh; jktu; rFkk iz’kk/ku½    

Time : Three Hours 

Maximum Marks : 75 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    

(UNIT—1) 

1- izzkphu Hkkjr esa jkT; ds Lo:i ij izdk’k Mkfy,A 

Throw light on nature of state in ancient India. 

vFkokvFkokvFkokvFkok    

(Or) 

izzkphu Hkkjr jkT; ds dk;ks± ij izdk’k Mkfy,A 

Throw light on functions of state in ancient India. 
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bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- izzkphu Hkkjr esa eaf=ifj”kn~ ij izdk’k Mkfy,A 

Throw light on ministry in ancient India. 

vFkokvFkokvFkokvFkok    

(Or) 

lIrkax fl)kUr ij izdk’k Mkfy,A 

Throw light on Saptang theory. 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    

(UNIT—3) 

3- izzkphu Hkkjr esa x.kjkT;ksa ds egRo ij izdk’k Mkfy,A 

Throw light on importance of Republics in ancient India. 

vFkokvFkokvFkokvFkok    

(Or) 

izzkphu Hkkjr esa x.kjkT;ksa ds laxBu ij ,d ys[k fyf[k,A 

Write a note on structure of Republics in ancient India. 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    

(UNIT—4) 

4- “kkM~xq.; fl)kUr ls vki D;k le>rs gSaa \ fyf[k,A 

What do you understand by Shadgunya principle ? Write. 

vFkokvFkokvFkokvFkok    

(Or) 

izzkphu Hkkjr esa nwr O;oLFkk ij ,d ys[k fyf[k,A 

Write a note on diplomatic relation in ancient India. 
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bdkbZbdkbZbdkbZbdkbZ&&&&5555    

(UNIT—5) 

5- dYpqfj oa’k dh iz’kklu O;oLFkk ij ,d ys[k fyf[k,A 

Write a note on administration of Kalchuri dynasty. 

vFkokvFkokvFkokvFkok    

(Or) 

jk”VªdwV oa’k dh iz’kklfud O;oLFkk ij ,d ys[k fyf[k,A 

Write a note on administrative system of Rastrakutas. 
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 (A-5) P. T. O.  

Roll No. ...................................  

DD–2164 

B. A./B. A. B. Ed. (Part II)  

EXAMINATION, 2020 

SOCIOLOGY 

Paper Second 

(Crime and Society) 

Time : Three Hours 

Maximum Marks : 75 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d 

iz’u    djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from 

each Unit is compulsory. All questions carry equal 

marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    

(UNIT—1) 

1- vijk/k D;k gS \ vijk/k ds dkj.kksa dh O;k[;k dhft,A 

What is crime ? Discuss the causes of crime. 

 [ 2 ] DD–2164 

 (A-5)  

vFkokvFkokvFkokvFkok    

(Or) 

vijk/k ds fofHkUu fl)kUrksa dh laf{kIr esa O;k[;k  

dhft,A 

Explain in brief various theories of crime. 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    

(UNIT—2) 

2- vkRegR;k D;k gS \ bekby nq[khZe }kjk nh xbZ 

lekt’kkL=h; O;k[;k nhft,A 

What is Suicide ? Give sociological explanation by 

Emile Durkheim. 

vFkokvFkokvFkokvFkok    

(Or) 

Hkkjr esa laxfBr vijk/k ij ,d ys[k fyf[k,A 

Write an essay on organized crime in India. 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    

(UNIT—3) 

3- lkekftd leL;k D;k gS \ blds izeq[k dkj.kksa dh foospuk 

dhft,A 

What is Social Problem ? Discuss its main  

causes. 
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vFkokvFkokvFkokvFkok    

(Or) 

eknd nzO; O;lu D;k gS \ blds nq”izHkkoksa dk mYys[k 

dhft,A 

What is Drug Addiction ? Explain its ill-

consequences. 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    

(UNIT—4) 

4- n.M ds izeq[k fl)kUrksa dh O;k[;k dhft,A 

Explain the main theories of Punishment. 

vFkokvFkokvFkokvFkok    

(Or) 

Hkkjr esa ifjoh{kk ,oa iSjksy ij ,d fucU/k fyf[k,A 

Write an essay on Probation and Parole in India. 

bdkbZbdkbZbdkbZbdkbZ&&&&5555    

(UNIT—5) 

5- cUnhx`g ds lekt’kkL= ls vki D;k le>rs gSa \ O;k[;k 

dhft,A 

What do you understand by Sociology of Prison ? 

Discuss. 
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vFkokvFkokvFkokvFkok    

(Or) 

fuEufyf[kr esa ls fdUgha nksnksnksnks ij laf{kIr fVIif.k;k¡ fyf[k, % 

(i) U;k;ikfydk dh Hkwfedk 

(ii) Hkkjr esa iqfyl dh Hkwfedk 

(iii) Hkkjr esa cUnhx`g lq/kkj 

Write short notes on any two of the following : 

(i) Role of Judiciary 

(ii) Role of Police in India 

(iii) Jail Reforms in India 
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Roll No. ...................................  

DD–2215 

B. A. (Part III) EXAMINATION, 2020 

ENGLISH LITERATURE 

Paper First 

(Indian Writing in English) 

Time : Three Hours 

Maximum Marks : 75 

Minimum Pass Marks : 26 

Note : Attempt all question. 

1. Explain any three of the following extracts with reference 

to their contexts : 15 

(a) Mayst thou be numbered when my days are done  

With deathless trees like those in Borrowdale  

Under whose awful branches lingered pale 

“Fear, trembling Hope, and Death, the skelton, 

And Time the shadow, and though weak the verse  

That would they beauty fain, oh fair rehearse,  

My love defend thee from oblivion’s curse,  

Or 

Thy infinite gifts came to me only on 

These very small hands of mine  

Ages pass 

and still thou pourest,  

and still there is room to fill. 
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(b) Not the raw seasons alone and 

the lanes 

left behind, but 

Also her nature the urge to fly,  

and the endless 

Pathways of the sky. 

Or 

In this triple baked continent 

Women don’t etch angry eyebrows 

On mud walls  

The patiently sit 

Hike empty pictures. 

(c) Last of all came boats, which were the sight of 

season we loved best. Every year they came like 

migratory birds in two and threes for the first few 

days and then in large numbers.  

Or 

We want to be on the platform. We want to be 

adoned to be flattered and our service to be 

recognised and receive approbation of the people.  

(d) Think of it! Head to him and arms to me! Then 

because you insested on going to the Rudra temple, 

he comes here and offers his head. Nobley too–

wants to keep his word, he says no other reason.  

Or 

Any other husband would have throttled me then 

and there. He tolerated my company for nearly a 

month, even after knowing what I had done.  
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2. Write short notes on any five of the following :  10 

(i) Subjective poetry  

(ii) Couplet  

(iii) Hymn 

(iv) Lyric 

(v) Fable  

(vi) Allegory  

3. Discuss Toru Dutt as a poet. 10 

Or 

Elaborate the theme of Tagore’s ‘Gitanjali’.  

Or 

Examine the central idea of Sarojini Naidu’s poem ‘The 

Ecstasy’.  

4. Critically examine the poem “The Female of the Species.” 

     10 

Or 

Write a note on Jayant Mahapatra as a regional poet.  

Or 

Discuss the theme and characteristics of Shiv K. Kumar’s 

poem “Indian Women”. 

Or 

Critically summarize ‘The Old Playhouse’.  

5. Write a summary of N. C. Chaudhari’s ‘My Birthplace’.  

     10 

Or 

Discuss the message of social service as given by 

Dr. S. Radhakrishnan in his ‘The Call of Suffering’.  
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6. Write a note on use of myths in Karnad’s ‘Hayavadana’. 10 

Or 

Discuss “Silence! The Court is in Session” as a Social 

Satire.  

7.  Give a word-portrait of Raju, the Guide.  10 

Or 

Comment on appropriateness of the little of ‘Guide’.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

DD–2215  2,600



 

 (A-52) P. T. O.  

Roll No. ...................................  

DD–2218 

B. A./B. A. B. Ed. (Part III) 

EXAMINATION, 2020 

HISTORY 

Paper First  

[History of India (From 1761 A. D. to 1950 A. D.)]  

Time : Three Hours 

Maximum Marks : 75 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    
djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    
(UNIT—1) 

1- ykWMZ fofy;e cSafVad ds lq/kkjksa dk vkykspukRed ijh{k.k 
dhft,A 

Critically examine the reforms of Lord William Bentinck. 

vFkokvFkokvFkokvFkok    
(Or) 

fuEufyf[kr esa ls fdUgha nksnksnksnks ij laf{kIr fVIif.k;k¡ fyf[k, % 

(i) Iyklh ds ;q) ds dkj.k 
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(ii) MygkSth dh gM+i uhfr 

(iii) vkaXy&Ýkalhlh la?k”kZ esa vaxzstksa dh fot; ds dkj.k 

(iv) ykWMZ dtZu ds lq/kkj 

Write short notes on any two of the following : 

(i) Causes of war of Plassey 

(ii) Dalhousie’s policy of doctrine of lapse 

(iii) Causes of the victory of England in Anglo-French 

Rivalry 

(iv) Reforms of Lord Curzon 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    

(UNIT—2) 

2- Hkkjrh; d`f”k ds kl ds dkj.kksa dh leh{kk dhft,A 

Review the causes of the decline of Indian Agriculture. 

vFkokvFkokvFkokvFkok    
(Or) 

jS¸;rokM+h O;oLFkk ls vki D;k le>rs gSa \ blds xq.k&nks”kksa dh 
foospuk dhft,A 

What do you understand by Ryyotwari System ? Discuss 

its merits and demerits. 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    

(UNIT—3) 

3- Hkkjrh; iqutkZxj.k esa jked`”.k fe’ku ds ;ksxnku dk ewY;kadu 

dhft,A 

Evaluate the contribution of Ramkrishna Mission in 

Indian Renaissance. 
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vFkokvFkokvFkokvFkok    
(Or) 

Hkkjr esa izsl ds fodkl ij ,d fucU/k fyf[k,A 
Write an essay on Development of Press in India. 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    
(UNIT—4) 

4- mxzoknh vkanksyu ds mn; ds dkj.kksa ,oa egRo dh foospuk 
dhft,A 
Describe the causes of rise of Extremist Movement and 

discuss its importance. 

vFkokvFkokvFkokvFkok    
(Or) 

fuEufyf[kr esa ls fdUgha nksnksnksnks ij laf{kIr fVIif.k;k¡ fyf[k, % 
(i) Hkkjrh; jk”Vªh; dkaxzsl dh mRifŸk rFkk mís’; 
(ii) yky] cky vkSj iky 

(iii) iatkc esa Økafrdkjh vkUnksyu 

(iv) vlg;ksx vkUnksyu 
Write short notes on any two of the following : 

(i) Origin and aims of Indian National Congress 

(ii) Lal, Bal and Pal 

(iii) Revolutionary Movement in Punjab 

(iv) Non-co-operation Movement 

bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- Hkkjrh; jk”Vªh; vkUnksyu esa vktkn fgUn QkSt ds ;ksxnku dk 
o.kZu dhft,A 
Discuss the contribution of Azad Hind Fauj in the Indian 

National Movement. 
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vFkokvFkokvFkokvFkok    

(Or) 

Hkkjr ljdkj ds 1919 ds vf/kfu;e dks ikfjr djus ds dkj.kksa] 
izeq[k /kkjkvksa o egŸo dk o.kZu dhft,A 

Describe the major causes, provisions and importance of 

passing the Govt. Act of India, 1919. 
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 (A-41) P. T. O.  

 Roll No. ...................................  

CD–2855 

B. C. A. (Part I) EXAMINATION, 2020 

(Old Course) 

Paper Fifth 

PROGRAMMING IN ‘C’ LANGUAGE 

Time : Three Hours 

Maximum Marks : 100 

Minimum Pass Marks : 40 

Note : Attempt any two parts from each Unit. All questions 

carry equal marks.  

Unit—I 

1. (a) What is operator ? Explain different types of 

operators used in C programming language. 

(b) Explain console formatted, unformatted I/O 

functions. 

(c) Differentiate between while and do-while statement. 

Unit—II 

2. (a) Explain different string manipulation functions used 

in C Programming language. 

(b) What is function ? Explain function prototype and 

function call statement with example. 
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(c) What is recursion ? Write a program for factorial of 

a number using recursion. 

Unit—III 

3. (a) Explain Nested Structure. 

(b) What is Union ? How is union defined and  

declared ?  

(c) Write a program to create union to store value of 

employee like employee name, employee id and 

salary. Also display all the contents of union. 

Unit—IV 

4. (a) Explain Pointer Arithmetic. 

(b) Explain Pointer to Structure. 

(c) Write a program in C for swapping two numbers 

using pointers. 

Unit—V 

5. (a) Write a program in C for reading the contents of file. 

(b) Write short notes on the following : 

(i) fopen 

(ii) fclose 

(iii) fpletc 

(iv) fgetc 

(v) fprintf 

(c) Explain conditional/composition directives # if, 

# else, # clif, # endif, # ifndef etc. 

CD–2855  700 



 

 (A-43) P. T. O.  

Roll No. ...................................  

DD–2866 

B. C. A. (Part II) EXAMINATION, 2020 

Paper Fifth 

PROGRAMMING IN C++ AND VISUAL C++ 

Time : Three Hours 

Maximum Marks : 100 

Minimum Pass Marks : 40 

Note : Attempt any two parts from each Unit. All questions 

carry equal marks.  

1. (a) What are the characteristics of object oriented 

language ? Explain it. 

(b) Explain the following : 

(i) Overloading 

(ii) Object and Class 

(c) Describe about procedural language. 

2. (a) Define structure. Write any program to store records 

of students using structure. 

(b) Explain string manipulation functions with example. 

(c) Define constructor and destructor with suitable 

example.  

3. (a) What is Inline Function ? Explain with C++ 

program. 
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(b) How does an array as class member ? Explain with 

example. 

(c) Write a C++ program to find the area of circle and 

area of rectangle using function overloading method. 

4. (a) Explain the types of relationships. 

(b) Describe relational vs. object oriented databases 

(c) Explain the following : 

(i) Object oriented design 

(ii) Object type 

5. (a) Explain the overview of VC++. 

(b) Explain the overview of MFC. 

(c) Explain the following : 

(i) VC++ workspace 

(ii) Device context 
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 (A-43) P. T. O.  

Roll No. ...................................  

DD–2875 

B. C. A. (Part III) EXAMINATION, 2020 

Paper Fifth 

COMPUTER OPERATING SYSTEM 

Time : Three Hours 

Maximum Marks : 100 

Minimum Pass Marks : 40 

Note : Attempt any two parts from each Unit. All questions 

carry equal marks.  

Unit—I 

1. (a) Define Operating Systems and discuss its role from 

different perspectives. 

(b) Classify multi-processor operating system based on 

how machine related its instructions to the data 

processing. 

(c) Discuss process management in operating systems. 

Unit—II 

2. (a) What is scheduler ? Explain First Come First Served 

Scheduling algorithm. 

(b) Discuss the uses of job queues, ready queues and 

device queues with suitable example. 
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(c) Explain process control block in operating system 

with suitable diagram. 

Unit—III 

3. (a) Differentiate between internal and external 

fragmentation. 

(b) Explain about page replacement technique. 

(c) Describe page-based virtual memory and how 

virtual memory is differ from main memory. 

Unit—IV 

4. (a) What file access pattern is particularly suited to 

chained file allocation on disk ? 

(b) Mention the different file attributes and file types 

and explain. 

(c) What are the structures used in file system 

implementation ? 

Unit—V 

5. (a) List two examples of deadlocks that are not related 

to a computer system environment. 

(b) Discuss resource pre-emption combined approach to 

deadlock handling. 

(c) Explain the Banker’s algorithm for deadlock 

avoidance. 
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 (A-35) P. T. O.  

Roll No. ...................................  

DD–2005 

B. Com. (Part I) EXAMINATION, 2020 

(Group—II : Compulsory) 

Paper First 

BUSINESS MATHEMATICS 

Time : Three Hours 

Maximum Marks : 75 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    
(UNIT—1) 

1- ¼v½ fuEufyf[kr lehdj.kksa dks foyksiu fof/k ls gy dhft, %  

        5 

5x + 2y = 22 

   x – y = 3 

Solve the following equations by elimination method : 

5x + 2y = 22 

   x – y = 3 
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¼c½ fuEufyf[kr lehdj.kksa dks otzxq.ku fof/k ¼Øsej fof/k½ ls 

gy dhft, % 10 

4x + 5y = 14 

   3x – 7y = –11 

Solve the following equations using the method of 

cross-multiplication (Cramer’s method) : 

 4x + 5y = 14 

   3x – 7y = –11 

vFkokvFkokvFkokvFkok    

(Or) 

fuEufyf[kr js[kh; izØeu leL;k dks xzkQh; fof/k ls gy 

dhft, %   15 

U;wure % 

z = x + 3y 

tcfd % 

  5x y+ ≤   

2 4x y+ ≥  

5 5x y+ ≥
 

        3x ≤          

       3y ≤  

rFkk                           , 0x y ≥ . 

Solve the following LPP by graphical method : 

Minimize :  

z = x + 3y 
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such that : 

  5x y+ ≤   

2 4x y+ ≥  

5 5x y+ ≥  

        3x ≤  

       3y ≤  

and                                 , 0x y ≥  . 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- ¼v½ fuEufyf[kr lkjf.kd dk eku Kkr dhft, % 5 
1 4 7

2 5 8

3 6 9

  

Evaluate the following determinant : 

1 4 7

2 5 8

3 6 9

 

¼c½ lR;kfir dhft, % 10 
(AB) B A′ ′ ′=  

tcfd % 
1 2 1

A 3 4 2

1 0 2

 
 =  
  

 

       

10 4 1

B 11 5 0

9 5 1

− − 
 = − 
 − − 

   

Verify that : 

(AB) B A′ ′ ′=  
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when : 

1 2 1

A 3 4 2

1 0 2

 
 =  
  

 

       

10 4 1

B 11 5 0

9 5 1

− − 
 = − 
 − − 

   

vFkokvFkokvFkokvFkok    

(Or) 

y?kqx.kd lkj.kh dh lgk;rk ls eku Kkr dhft, % 15 

3 1/3

2 1/4

(6.45) (0.00034)

(9.37) (8.93)

×

×
  

Find the value with the help of logarithm tables : 

3 1/3

2 1/4

(6.45) (0.00034)

(9.37) (8.93)

×

×
. 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    

(UNIT—3) 

3- ¼v½ ` 2,500 dk 5% okf”kZd dh nj ls 10 tuojh] 2019 ls 

15 uoEcj] 2019 rd dk lk/kkj.k C;kt Kkr dhft,A  7 

Find the simple interest on ` 2,500 at 5% p.a. for the 

period from 10 January, 2019 to 15 November, 

2019. 
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¼c½ ` 5,000 dk 6% okf”kZd dh nj ls 1
2

4  o”kZ dk pØo`f) 

C;kt Kkr dhft,] ;fn C;kt dh x.kuk v)Zokf”kZd dh 

tkrh gSA  8 

Find the compound interest on 5,000 @ 6% p.a. for 

1
2

4  years, if interest is calculated half-yearly. 

vFkokvFkokvFkokvFkok    

(Or) 

,d O;fDr us ,d Vh- oh- [kjhnus ds fy, ` 8,000 dk _.k 

fy;k rFkk ewy/ku vkSj pØo`f) C;kt dk Hkqxrku 5.2% okf”kZd 

dh nj ls 3 o”kZ ckn ykSVkus ds fy, lger gks x;kA mlus 

Vh- oh- ` 9,528 eas csp fn;k ftldk Hkqxrku 3 o”kZ ckn ns; gSA 

rhu o”kZ ckn mldk ykHk ;k gkfu dk izfr’kr Kkr dhft,A 15 

A person took a loan of ` 8,000 for buying a TV. He 

agreed to pay the principal and compound interest @ 

5.2% p. a. after three years. He sold the TV in ` 9,528 

payment of which is payable after three years. Find his 

profit or loss percent after three years. 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    

(UNIT—4) 

4- ¼v½ 72.90 yhVj ds feJ.k esa nw/k vkSj ikuh dk vuqikr 7 : 2 

gSA feJ.k esa fdruk vkSj ikuh feyk;k tk;s fd nw/k vkSj 

ikuh dk vuqikr 7 : 3 gks tk;s \ 5 

72.90 litre of a mixture contains milk and water in 

the ratio of 7 : 2. How much more water must be 

added to this mixture so that the ratio of the milk 

and water may be 7 : 3 ? 
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¼c½ ,d 250 xt yEch] 24 QhV Å¡ph vkSj 6 QhV pkSM+h 

nhokj ds fuekZ.k esa 72 vkneh izfrfnu 8 ?kaVs dke djrs 

gSaA crkb;s ,d nwljk dk;Z ftlesa 275 xt yEch] 25 

QhV Å¡ph vkSj 9 QhV pkSM+h nhokj cukuh gS vkSj Jfed 

izfrfnu 9 ?kaVs dke djrs gSa rks fdrus Jfedksa dh 

vko’;drk gksxh ;fn dke igys ftrus le; eas gh iwjk 

djuk gks \ 10 

It took 72 men working 8 hours a day to construct a 

wall 250 yard long, 24 feet high and 6 feet wide. 

How many men should be engaged to fulfil a 

contract for constructing a wall 275 yard long, 

25 feet high and 9 feet wide ? If they are to work 

9 hours a day and finish the work in the same time 

as the past. 

vFkokvFkokvFkokvFkok    
(Or) 

¼v½ ,d Nk= viuh /kujkf’k 30% O;; djrk gS vkSj vc 
mlds ikl ` 21 cpsA mldh /kujkf’k crkb,A  5 

A student expends 30% of his money and saves 

` 21. Find his amount.  

¼c½ ,d d{kk esa 40 Nk=ksa dh vkSlr vk;q 16 o”kZ FkhA 5 Nk=ksa 
dh vkSlr vk;q 14.8 o”kZ Fkh] tks fd d{kk NksM+dj pys 
x;s ,oa 3 Nk= ftudh vk;q Øe’k% 24, 17.5 ,oa 19.5 
o”kZ gS] u;s izfo”V gq,A d{kk dh vkSlr vk;q crkb,A  10 

In a class of 40 students the average age is 16 years. 

5 students of average age of 14.8 years left the class 

and 3 new students of 24, 17.5 and 19.5 years 

respectively were admitted. Find average age of the 

class.  
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bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- ¼v½ ;fn ipkl oLrqvksa dk Ø; ewY; pkyhl oLrqvksa ds foØ; 
ewY; ds cjkcj gks] rks ykHk ;k gkfu dk izfr’kr Kkr 
dhft,A       5 
If the purchased price of 50 articles and selling price 

of 40 articles are the same, calculate the percentage 

profit or loss.   

¼c½ lq/khj ,d edku nyky ds ek/;e ls 3% nykyh nsdj 
dqy ` 7,00,000 esa [kjhnrk gS vkSj rqjUr 3% ykHk ij 
csp nsrk gSA crkb;s fd % 10 
(i) nyky dks fdruh nykyh feyh \ 
(ii) edku cspus okys dks fdrus #i;s izkIr gq, \ 
(iii) lq/khj dks fdruk ykHk feyk \ 
Sudhir purchased a house for ` 7,00,000 in all 

through a broker by giving 3% brokerage and 

immediately was sold by him at a profit of 3%. Find : 

(i) The commission of the broker.  

(ii) The amount received by the house seller.  

(iii) The amount gained by Sudhir.   

vFkokvFkokvFkokvFkok    
(Or) 

fuEufyf[kr ifjogu leL;k dks oksfxy lfUudV fof/k ls gy 
dhft, %   15 

os;jgkml 
ls 

cktkj ¼dks½ 
iwfrZ 

1M   2M  3M  4M  

1W   2 2 2 1 3 

2W  10 8 5 4 7 

3W  7 6 6 8 5 

ek¡x 4 3 4 4 15 
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Find the following transportation problem by Vogel’s 

approximation method : 

Warehouse 

(from) 

Market (to) 
Supply 

1M   2M  3M  4M  

1W   2 2 2 1 3 

2W  10 8 5 4 7 

3W  7 6 6 8 5 

Demand 4 3 4 4 15 
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 (A-1) P. T. O.  

Roll No. ...................................  

DD–2026 

B. Com. (Part II) EXAMINATION, 2020 

(Group—II : Compulsory) 

Paper Second 

PRINCIPLES OF BUSINESS MANAGEMENT 

Time : Three Hours 

Maximum Marks : 75 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    
djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    
(UNIT—1) 

1- ßizcU/k dk;Z djkus dh dyk gSAÞ bl dFku dks le>kb;s vkSj 
izcU/k ds eq[; dk;ks± dk o.kZu dhft,A 
“Management is the art of getting the work done.” 

Examine the statement and describe the main functions of 

management. 

vFkokvFkokvFkokvFkok    
(Or) 

oSKkfud izcU/k ds fodkl esa ,Q- MCY;w- Vsyj dk D;k ;ksxnku 
jgk gS \ foospuk dhft,A 
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Explain the F. W. Taylor’s contribution in the 

development of scientific management. 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    

(UNIT—2) 

2- fu;kstu izfØ;k ls vki D;k le>rs gSa \ blds izeq[k ixksa dh 
foospuk dhft,A 

What do you understand by planning process ? Discuss 

the main steps involved in it. 

vFkokvFkokvFkokvFkok    

(Or) 

mís’;ksa }kjk izcU/k D;k gS \ blds ykHk ,oa lhekvksa dk o.kZu 
dhft,A 

What is management by objectives ? Describe its 

advantages and limitations. 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    

(UNIT—3) 

3- laxBu dh ifjHkk”kk nhft,A ,d LoLFk laxBu dh D;k&D;k 

vko’;d ckrsa gksrh gSa \ le>kb;sA 

Define organization. What are the requisites of a sound 

organization ? Explain. 

vFkokvFkokvFkokvFkok    

(Or) 

foHkkxhdj.k ls vki D;k le>rs gSa \ bldh vko’;drk ,oa 
egŸo ij izdk’k Mkfy,A 

What do you understand by departmentation ? Explain its 

need and importance. 
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bdkbZbdkbZbdkbZbdkbZ&&&&4444    

(UNIT—4) 

4- vfHkizsj.kk dh ifjHkk”kk nhft,A /kukRed ,oa _.kkRed vfHkizsj.kk 
esa vUrj crkb;sA 

Define motivation. Point out the difference between 

positive and negative motivation. 

vFkokvFkokvFkokvFkok    

(Or) 

ß,d O;olk; ds fy, lEizs”k.k dk mruk gh egŸo gS ftruk  
fd ,d O;fDr ds fy, jDrlapkj dk gSAÞ foospuk dhft,A 

“Communication is as necessary to business as the blood 

stream to person.” Discuss. 

bdkbZbdkbZbdkbZbdkbZ&&&&5555    

(UNIT—5) 

5- fu;U=.k dh ifjHkk”kk nhft,A blds {ks= ,oa fl)kUrksa dh 
foospuk dhft,A 

Define control. Discuss its scope and principles. 

vFkokvFkokvFkokvFkok    

(Or) 

ifjorZu ds izcU/k ls D;k vk’k; gS \ ifjorZu dk fojks/k D;ksa 
fd;k tkrk gS \ 

What is meant by management of change ? Why is 

change resisted ? 
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 (A-2) P. T. O.  

Roll No. ...................................  

DD–2047 

B. Com. (Part III) EXAMINATION, 2020 

(Optional Group A—Finance Area) 

(Group—III) 

Paper First 

FINANCIAL MANAGEMENT 

Time : Three Hours 

Maximum Marks : 75 

Minimum Pass Marks : 25 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    
djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    

(UNIT—1) 

1- ßvf/kdre ykHk dk mís’; O;olk; lapkyu dh lekurk dks 
ij[kus ds fy;s mi;ksxh dlkSVh izLrqr ugha djrk gSAÞ O;k[;k 
dhft,A 

“The goal of profit maximisation does not provide an 

operationally useful criteria for measuring the success of 

business operations.” Explain it. 
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vFkokvFkokvFkokvFkok    
(Or) 

foŸk dk;Z dh ifjHkk”kk nhft,A foŸk dk;Z dh izd`fr rFkk {ks= 
dh foospuk dhft,A 
Define finance function. Discuss its nature and scope. 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- foŸkh; izcU/k ls vki D;k le>rs gSa \ vk/kqfud ;qx esa foŸkh; 
izcU/k dk egŸo rFkk lhek,¡ Li”V dhft,A 
What do you understand by financial management ? 

Explain the importance and limitations of financial 

management in modern era. 

vFkokvFkokvFkokvFkok    
(Or) 

fuEufyf[kr fooj.k nks e’khuksa x rFkk y ls lEcfU/kr gS % 

 e’khu x e’khu y 

ykxr ¼`½ 1,12,250 1,12,250 

vuqekfur thou 5 o”kZ 5 o”kZ 

vuqekfur lsyost ewY; ¼`½ 6,000 6,000 

dj rFkk kl ds ckn okf”kZd vk; % 
 ` ` 

  I o”kZ 6,750 22,750 

  II o”kZ 10,750 18,750 

  III o”kZ 14,750 14,750 

  IV o”kZ 18,750 10,750 

  V o”kZ 22,750 6,750 
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e’khu ^,Dl* ij rhljs o”kZ ds vUr esa vksojgkWfyax pktsZt 

` 50]000A lh/kh js[kk i)fr ls kl dkVk x;k gSA dVkSrh nj 
10% gSA 10% ij ik¡p o”kks± ds fy, ewY; dkjd gS % 

o”kZ P. V. F. 

I 0.909 

II 0.826 

III 0.751 

IV 0.683 

V 0.621 

orZeku ewY; jhfr dk iz;ksx djrs gq, lq>kb;s fd fdl e’khu 
dks pquuk pkfg, \ 
The following details relate to the two machines x and y : 

 Machine x Machine y 

Cost (`) 1,12,250 1,12,250 

Estimated life 5 years 5 years 

Estimated Salvage Value (`) 6,000 6,000 

Annual income after tax and depreciation : 

 ` ` 

  I year 6,750 22,750 

  II year 10,750 18,750 

  III year 14,750 14,750 

  IV year 18,750 10,750 

  V year 22,750 6,750 

Overhauling charges at the end of 3rd year ` 50,000 in 

case of machine x. Depreciation has been charged at 

Straight Line Method. Discounting rate in 10%. 
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P. V. F. at 10% for the five years are : 

Year P. V. F. 

I 0.909 

II 0.826 

III 0.751 

IV 0.683 

V 0.621 

Using present value method, suggest which machine 

should  be chosen ? 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    

(UNIT—3) 

3- iw¡th dh ykxr dh ifjHkk”kk nhft,A le>kb;s fd vki dEiuh 

ds iw¡th dh Hkkjkafdr vkSlr ykxr dh x.kuk dSls djsaxs \ 

Define cost of capital. State how would you determine the 

weighted average cost of capital of a company ? 

vFkokvFkokvFkokvFkok    

(Or) 

fuEufyf[kr iwokZuqeku x rFkk y dEifu;ksa ls lEcfU/kr gSa % 

 x y 

foØ; ,oa mRiknu ¼bdkb;k¡½ 80000 100000 

ifjorZu’khy ykxr ¼izfr bdkbZ½ ¼`½ 4 3 

LFkk;h ykxr ¼`½ 2,40,000 2,50,000 

_.k ij C;kt ¼`½ 1,20,000 2,50,000 

foØ; ewY; izfr bdkbZ 10 8 
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mDr leadksa ds vk/kkj ij % 

(i) ifjpkyu yhojst 

(ii) foŸkh; yhojst 
(iii) la;qDr yhojst dh x.kuk dhft,A 
The following projections are related to companies 

x and y : 

 x y 

Output and Sales (units)  80000 100000 

Variable Costs p. u. (`) 4 3 

Fixed Costs (`) 2,40,000 2,50,000 

Interest burden on Debt (`) 1,20,000 2,50,000 

Selling Price p. u. 10 8 

On the basis of above data, compute : 

(i) Operating Leverage 

(ii) Financial Leverage 

(iii) Combined Leverage 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    
(UNIT—4) 

4- A fyfeVsM dk fpëk fuEu izdkj gS % 

nkf;Ronkf;Ronkf;Ronkf;Ro    jkf’k ¼jkf’k ¼jkf’k ¼jkf’k ¼`̀̀̀½½½½    lEifŸk;k¡lEifŸk;k¡lEifŸk;k¡lEifŸk;k¡    jkf’k ¼jkf’k ¼jkf’k ¼jkf’k ¼`̀̀̀½½½½    

lerk va’k iw¡th 8,00,000  LFkk;h lEifŸk;k¡ 6,40,000 

8% _.ki= 6,00,000  jksdM+ 72,000 

O;kikfjd ysunkj 80,000  nsunkj 4,88,000 

ns; fcy 1,20,000  izkI; fcy 1,00,000 

   LdU/k 1,28,000 

   fofu;ksx 1,72,000 

 16,00,000  16,00,000 



 [ 6 ] DD–2047 

 (A-2)  

mi;qZDr fpës ls fuEufyf[kr vuqikrksa dh x.kuk dhft, % 

(i) iw¡th nfUrdj.k vuqikr 

(ii) _.k&lerk vuqikr 

(iii)   ‘kks/ku {kerk vuqikr 

Following is the Balance Sheet of A Ltd. : 

Liabilities 
Amount 

(`̀̀̀) 
Assets 

Amount 

(`̀̀̀) 

Equity Share Capital 8,00,000  Fixed Assets 6,40,000 

8% Debentures 6,00,000  Cash 72,000 

Trade Creditors 80,000  Debtors 4,88,000 

B/P 1,20,000  B/R 1,00,000 

   Stock 1,28,000 

   Investment 1,72,000 

 16,00,000  16,00,000 

Calculate the following ratios from the above Balance 

Sheet : 

(i) Capital Gearing Ratio 

(ii) Debt-Equity Ratio 

(iii) Solvency Ratio 

vFkokvFkokvFkokvFkok    
(Or) 

ykHkka’k ds forj.k ls lEcfU/kr fofHkUu uhfr;ksa dh O;k[;k 
dhft,A fdlh dEiuh }kjk fdu n’kkvksa esa Lda/k&ykHkka’k dk 
forj.k fd;k tkuk pkfg, \ 

Explain various policies relating to allocation of dividend. 

Under what conditions should the allocation of dividends 

be made by a company ? 
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bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- fuEufyf[kr lwpukvksa ls tuojh ls vizSy rd dh vof/k ds fy, 
jksdM+ ctV rS;kj dhft, % 

vk’kkuq:i fcØh vk’kkuq:i [kjhn 
 `  ` 

tuojh 60,000 tuojh 48,000 

Qjojh 40,000 Qjojh 80,000 

ekpZ 45,000 ekpZ 81,000 

vizSy 40,000 vizSy 90,000 

deZpkjh dks etnwjh nsuh gS ` 5]000 izfrekgA 1 tuojh dks 
jksdM+ ckdh ` 8]000A izcU/k }kjk ;g fuf’pr fd;k x;k gS  
fd % 

(i) ` 10]000 dh lhek ds vUnj deh dh n’kk esa cSad ls 
izcU/k fd;k tk ldrk gSA 

(ii) ` 10]000 ls vf/kd ijUrq ` 42]000 dh lhek ds vUnj deh 
gksus ij _.ki=ksa ds fuxZeu dks izkFkfedrk nsuh gSA 

(iii) ` 42]000 ls vf/kd deh gksus ij le va’kksa ds fuxZeu 
dks izkFkfedrk nsuh gSA 

From the following information, prepare a cash budget for 

the period from January to April : 

Expected Sale Expected Purchase  

 `  ` 

January 60,000 January 48,000 

February 40,000 February 80,000 

March 45,000 March 81,000 

April 40,000 April 90,000 
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Wages to be paid to workers ` 5,000 p. m. Cash balance 

on 1st January may be assumed to be ` 8,000. It has been 

decided by the management that : 

(i) In case of deficit within the limit of ` 10,000 

arrangement can be made with the bank. 

(ii) In the case of deficit exceeding ` 10,000 but within 

the limit of ` 42,000 issue of debentures is to be 

preferred. 

(iii) In the case of deficit exceeding ` 42,000 the issue of 

equity shares is to be preferred. 

vFkokvFkokvFkokvFkok    

(Or) 

‘kq) dk;Z’khy iw¡th pkyw lEifŸk;ksa ij pkyw nkf;Roksa dk vkf/kD; 

ugha gksrk gSA le>kb,A 

Net working capital is the excess of current liabilities over 

current assets. Explain. 
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 (A-4) P. T. O.  

Roll No. ...................................  

DD–2049 

B. Com. (Part III) EXAMINATION, 2020 

(Optional Group B—Marketing Area) 

Paper First 

PRINCIPLES OF MARKETING 

Time : Three Hours 

Maximum Marks : 75 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    
djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    
(UNIT—1) 

1- vk/kqfud foi.ku vo/kkj.kk ls vki D;k le>rs gSa \ vk/kqfud 
foi.ku vo/kkj.kk ds egRo dks le>kb,A 

What do you understand by Modern Marketing Concept ? 

Explain the importance of Modern Marketing Concept. 

vFkokvFkokvFkokvFkok    
(Or) 

foi.ku feJ.k ls vki D;k le>rs gSa \ foi.ku feJ.k dks 
izHkkfor djus okyh ‘kfDr;ksa dk o.kZu dhft,A 
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What do you understand by Marketing Mix ? Describe the 

forces affecting marketing mix. 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- cktkj foHkDrhdj.k ls vkidk D;k vk’k; gS \ blds mís’; ,oa 
vk/kkj crkb,A 

What do you understand by Market Segmentation ? Point 

out its objectives and bases. 

vFkokvFkokvFkokvFkok    
(Or) 

ßmiHkksDrk O;ogkjÞ dh fopkj/kkjk dks Li”Vr% le>kb, ,oa 
bldks izHkkfor djus okys fofHké ?kVdksa dk o.kZu dhft,A 

Explain clearly the concept of  “Consumer behaviour” 

and also discuss the various factors which affect 

consumer behaviour. 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    
(UNIT—3) 

3- ewY; fu/kkZj.k D;k gS \ ,d ubZ dEiuh }kjk ^ewY; uhfr* cukrs 
le; fdu ?kVdkas dks /;ku esa j[kuk pkfg, \ 

What is Pricing ? Which factors should be kept in mind 

by a new company while formulating its ‘Price Policy’ ? 

vFkokvFkokvFkokvFkok    
(Or) 

mRikn fu;kstu dh ifjHkk”kk nhft, rFkk foi.ku esa blds egRo 
dh foospuk dhft,A 

Define product planning and discuss its importance in 

marketing. 
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bdkbZbdkbZbdkbZbdkbZ&&&&4444    

(UNIT—4) 

4- ßFkksd O;kikjh mRiknd ,oa miHkksDrk ds e/; vuko’;d gSAÞ 
foospuk dhft,A 

“Wholesaler is an unnecessary chain between the 

producer and consumer.” Discuss. 

vFkokvFkokvFkokvFkok    

(Or) 

Hkkjr esa ifjogu lk/kuksa ij ,d laf{kIr fVIi.kh fyf[k,A 

Write a short note on means of transportation in India. 

bdkbZbdkbZbdkbZbdkbZ&&&&5555    

(UNIT—5) 

5- foKkiu D;k gS \ bldh lhek,¡ crkb, vkSj izHkko’kkyh foi.ku 
esa blds egRo dk o.kZu dhft,A 

What is advertising ? Describe its limitations and describe 

the importance of advertising in effective marketing. 

vFkokvFkokvFkokvFkok    

(Or) 

foØ;drkZ ls vkidk D;k vk’k; gS \ foØ;drkZ ds fofHké 
dk;ks± dh foospuk dhft,A 

What do you mean by Salesperson ? Explain the various 

functions of a salesperson. 
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Roll No. ...................................  

DD–2051 

B. Com. (Part III) EXAMINATION, 2020 

(Optional Group—C) 

(Commercial Area) 

Paper First 

INFORMATION TECHNOLOGY AND ITS 

APPLICATION IN BUSINESS 

Time : Three Hours 

Maximum Marks : 75 

Note : Attempt any two parts from each Unit. All questions 

carry equal marks. 

Unit—I 

1. (a) Explain the basic features of Information 

Technology. 

(b) Explain Convergence Technology. 

(c) Describe the impact of Information Technology (IT) 

on Printing Press and Media. 

Unit—II 

2. (a) What is Computer ? Explain the various types of 

Computers. 

(b) Explain about various Input Devices of Computer. 

(c) Explain about System Software. 
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Unit—III 

3. (a) Explain Word Processing. 

(b) Describe Electronic Spreadsheet. 

(c) Explain Sorting and Indexing. 

Unit—IV 

4. (a) Explain EDI (Electronic Data Interchange) 

Standards. 

(b) Describe Financial EDI in detail. 

(c) Explain in detail applications of EDI. 

Unit—V 

5. (a) Explain the technological foundation of Internet. 

(b) Explain Domain Name System (DNS). 

(c) Explain the applications of Distributed Computing. 
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  (A-3) P. T. O.  

Roll No. ...................................  

DD–2053 

B. Com. (Part III) EXAMINATION, 2020 

(Optional Group—D) 

(Money, Banking and Insurance Area) 

Paper First 

FUNDAMENTAL OF INSURANCE 

Time : Three Hours 

Maximum Marks : 75 

Minimum Pass Marks : 25 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    
djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    
(UNIT—1) 

1- chek dh ifjHkk”kk nhft,A chek dh vko’;drk o egRo ij 
izdk’k Mkfy,A 
Define Insurance. Point out the need and importance of 

insurance.  

vFkokvFkokvFkokvFkok    
(Or) 

ns’k ds vkfFkZd fodkl esa chek dk D;k ;ksxnku gS \ le>kb,A  
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What is the contribution of insurance in the economic 

development of a nation ? Explain.  

bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- chek ,tsUV dkSu cu ldrk gS \ chek ,tsUV dks ikfjJfed nsus 
ds lkekU; fu;e D;k gSa \ 
Who may become Insurance Agent ? What are the general 

rules for giving remuneration to the insurance agent ? 

vFkokvFkokvFkokvFkok    
(Or) 

chek ,ts.V dh dk;Ziz.kkyh dk o.kZu dhft,A  
Explain the working of an insurance agent.   

bdkbZbdkbZbdkbZbdkbZ&&&&3333    
(UNIT—3) 

3- chfer thou dh e`R;q gksus ij rFkk chek i= ds ifjiDo gksus 
ij nkos dk fuiVkjk djus dh izfØ;k dks crkb,A  
Give the procedure of claim settlement on the death of the 

assured life and on maturity of the policy.  

vFkokvFkokvFkokvFkok    
(Or) 

chek ,tsUV dh fu;qfDr dh izfØ;k dk foLrkj ls o.kZu dhft,A  
Explain the procedure relating to appointment of 

insurance agent.  

bdkbZbdkbZbdkbZbdkbZ&&&&4444    
(UNIT—4) 

4- Hkkjrh; thou chek fuxe ds e.My dk;kZy; ds dk;ks± vkSj 
laxBu dk o.kZu dhft,A  
Describe the functions and organisation of a divisional 

office of the L. I. C. 
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vFkokvFkokvFkokvFkok    

(Or) 

chek laxBu dh izeq[k fØ;kvksa dk o.kZu dhft,A 

Explain the important activities of insurance organizations.  

bdkbZbdkbZbdkbZbdkbZ&&&&5555    

(UNIT—5) 

5- leqnzh chek D;k gS \ lkeqfnzd chek vuqcU/k ds vko’;d rRoksa 
dh O;k[;k dhft,A  

What is the Marine Insurance ? Explain the essential 

elements of a marine insurance contract.  

vFkokvFkokvFkokvFkok    

(Or) 

thou chek dh ifjHkk”kk nhft,A blds eq[; ykHkksa dk o.kZu 
dhft,A  

Define Life Insurance. Describe its main advantages. 
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 (A-38) P. T. O.  

Roll No. ...................................  

CD–2652 

B. Sc./B. Sc. B. Ed. (Part I) 

EXAMINATION, 2020 

(Old Course) 

BOTANY 

Paper Second 

(Cell Biology and Genetics) 

Time : Three Hours 

Maximum Marks : 50 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

vko’;drkuqlkj ukekafdr fp= cukb,A 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

Draw well labelled diagrams wherever necessary. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    

(UNIT—1) 

1- dsUnzd dh ijklajpuk ,oa dk;ks± dk o.kZu dhft,A 

Describe the ultrastructure and functions of nucleus. 
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vFkokvFkokvFkokvFkok    
(Or) 

fuEufyf[kr esa ls fdUgha nksnksnksnks ij fVIif.k;k¡ fyf[k, % 

¼v½ fjfDrdk,¡ 
¼c½ rjy ekstS+d ekWMy 

¼l½ vUrnzZO;h tkfydk 
Write notes on any two of the following : 

(a) Vacuoles 

(b) Fluid Mosaic Model 

(c) Endoplasmic Reticulum 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- cgqxqf.krk ls vki D;k le>rs gSa \ mfpr mnkgj.k nsdj 
Locgqxqf.krk ,oa ijcgqxqf.krk dk o.kZu dhft,A 
What do you understand by Polyploidy ? Describe 

Autopolyploidy and Allopolyploidy giving suitable 

examples. 

vFkokvFkokvFkokvFkok    
(Or) 

fuEufyf[kr esa ls fdUgha nksnksnksnks ij fVIif.k;k¡ fyf[k, % 

¼v½ xq.klw= fcUnq 

¼c½ xq.klw= foyksiu 
¼l½ tk;xksVhu ,oa iSdhVhu voLFkk 
Write notes on any two of the following : 

(a) Centromere 

(b) Chromosome deletion 

(c) Zygotene and Pachytene stage 
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bdkbZbdkbZbdkbZbdkbZ&&&&3333    

(UNIT—3) 

3- vkuqokaf’kd dwV D;k gS \ blds lkekU; xq.kksa dks le>kb,A 

What is genetic code ? Explain its general properties. 

vFkokvFkokvFkokvFkok    

(Or) 

fuEufyf[kr esa ls fdUgha nksnksnksnks ij fVIif.k;k¡ fyf[k, % 

¼v½ U;wfDy;kslkse ekWMy 
¼c½ Mh- ,u- ,- dh vkf.od lajpuk 
¼l½ yodksa dh oa’kkuqxfr 
Write notes on any two of the following : 

(a) Nucleosome model 

(b) Molecular structure of DNA 

(c) Plastid inheritance 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    
(UNIT—4) 

4- izksVhu dh 1 D, 2 D ,oa 3 D lajpuk dk o.kZu dhft,A 
Describe 1 D, 2 D and 3 D structure of protein. 

vFkokvFkokvFkokvFkok    

(Or) 

fuEufyf[kr esa ls fdUgha nksnksnksnks ij fVIif.k;k¡ fyf[k, % 

¼v½ lsUVªy MksXek ,oa VsfefuLe 

¼c½ t-vkj- ,u- ,- dk Dyksoj yhQ ekWMy  

¼l½ jkbckslkse 
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Write notes on any two of the following : 

(a) Central Dogma and Teminism 

(b) Clover leaf model of t-RNA 

(c) Ribosome 

bdkbZbdkbZbdkbZbdkbZ&&&&5555    

(UNIT—5) 

5- esaMy ds vkuqokaf’kdrk ds fu;eksa dh O;k[;k dhft,A 

Discuss Mendel’s Laws of Inheritance. 

vFkokvFkokvFkokvFkok    

(Or) 

vfodYih thu dh vU;ksU; fØ;k D;k gS \ mnkgj.k nsdj 
le>kb,A 

What is Non-Allelic Gene Interaction ? Explain by giving 

examples. 
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 (A-16) P. T. O.  

Roll No. ...................................  

DD–2652 

B. Sc./B. Sc. B. Ed. (Part I)  

EXAMINATION, 2020 

BOTANY 

Paper Second 

(Bryophytes, Pteridophytes, Gymnosperms and 

Palaeobotany) 

Time : Three Hours 

Maximum Marks : 50 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

vko’;drkuqlkj ukekafdr fp= cukb,A 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

Draw well labelled diagrams whenever necessary. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    

(UNIT—1) 

1- ekdsZfU’k;kekdsZfU’k;kekdsZfU’k;kekdsZfU’k;k esa iztuu dh fØ;k dks foLrkjiwoZd le>kb;sA 

Describe in detail the process of reproduction in 

Marchantia. 
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vFkokvFkokvFkokvFkok    
(Or) 

fuEufyf[kr esa ls fdUgha nksnksnksnks ij laf{kIr fVIif.k;k¡ fyf[k, % 

¼v½ ekdsZfU’k;kekdsZfU’k;kekdsZfU’k;kekdsZfU’k;k dk xsek di 

¼c½ ¶;wusfj;k¶;wusfj;k¶;wusfj;k¶;wusfj;k dsIlwy 

¼l½ czk;ksQkbV~l esa o/khZ iztuu 

Write short notes on any two of the following : 

(a) Gemma cup of Marchantia 

(b) Capsule of Funaria 

(c) Vegetative reproduction in Bryophytes 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    

(UNIT—2) 

2- VsfjMksQkbV~l esa jEHk iz.kkyh dks le>kb;sA 

Explain the stelar system in Pteridophytes. 

vFkokvFkokvFkokvFkok    

(Or) 

fuEufyf[kr esa ls fdUgha nksnksnksnks ij laf{kIr fVIif.k;k¡ fyf[k, % 

¼v½ ,iksxseh 

¼c½ ,tksyk&tSomoZjd ds :i esa 

¼l½ fo”kechtk.kqdrk 

Write short notes on any two of the following : 

(a) Apogamy 

(b) Azolla–as Biofertilizer 

(c) Heterospory 
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bdkbZbdkbZbdkbZbdkbZ&&&&3333    
(UNIT—3) 

3- ykbdksiksfM;e esa iztuu fof/k ij ,d fucU/k fyf[k,A 

Write an essay on reproduction of Lycopodium. 

vFkokvFkokvFkokvFkok    

(Or) 

fuEufyf[kr esa ls fdUgha nksnksnksnks ij laf{kIr fVIif.k;k¡ fyf[k, % 

¼v½ lkbyksVe 

¼c½ ,DohlhVe,DohlhVe,DohlhVe,DohlhVe ds rus dh vuqizLFk&dkV 

¼l½ ekekekekllllhZfy;khZfy;khZfy;khZfy;k    

Write short notes on any two of the following : 

(a) Psilotum 

(b) T. S. of Equisetum stem 

(c) Marsilea 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    

(UNIT—4) 

4- lkbdllkbdllkbdllkbdl esa iztuu fof/k dks le>kb;sA 

Explain the reproduction of Cycas. 

vFkokvFkokvFkokvFkok    
(Or) 

fuEufyf[kr esa ls fdUgha nksnksnksnks ij laf{kIr fVIif.k;k¡ fyf[k, % 

¼v½ ikbulikbulikbulikbul uhfMy 

¼c½ bQsMªkbQsMªkbQsMªkbQsMªk ds rus dh vuqizLFk&dkV 

¼l½ lkbdllkbdllkbdllkbdl dk uj ‘kadq 
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Write short notes on any two of the following : 

(a) Pinus needle 

(b) T. S. of Ephedra stem 

(c) Cycas male cone 

bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- Hkw&xHkhZ; le; lkj.kh ij ,d fucU/k fyf[k,A 

Write an essay on Geological Time Scale. 

vFkokvFkokvFkokvFkok    
(Or) 

fuEufyf[kr esa ls fdUgha nksnksnksnks ij laf{kIr fVIif.k;k¡ fyf[k, % 

¼v½ thok’eksa ds izdkj 

¼c½ jkbfu;k 

¼l½ thok’e vuko`rchth 

Write short notes on any two of the following : 

(a) Types of fossils 

(b) Rhynia 

(c) Fossil gymnosperms 

 

 

 

 

 

 

 

DD–2652  11,300



 

 (A-29) P. T. O.  

Roll No. ...................................  

DD–2666 

B. Sc. (Part I) EXAMINATION, 2020 

INDUSTRIAL CHEMISTRY 

Paper Second   

(Industrial Aspects of Physical Chemistry, Material  

and Energy Balance) 

Time : Three Hours 

Maximum Marks : 33 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    
djuk vfuok;Z gSA  

 Attempt all the five questions. One question from each 

Unit is compulsory.  

bdkbZbdkbZbdkbZbdkbZ&&&&1111    
(UNIT—1) 

1- ¼v½ lw{e ik;l vkSj blds izHkko dks le>kb,A 4 
Explain micro emulsion and its effect. 

¼c½ lkWy fdls dgrs gSa \ mnkgj.k nsdj Li”V dhft,A 3 
What are Sols ? Explain it by giving examples. 

vFkokvFkokvFkokvFkok    
(Or) 

¼v½ HkkSfrd vf/k’kks”k.k D;k gS \ 4 
What is Physical Adsorption ? 
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¼c½ tsYl fdls dgrs gSa \ 3 
What are Gels ? 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- ¼v½ mRizsjd o/kZd vkSj mRizsjd fo”k ds mnkgj.k nhft,A 
mRizsjd dh dk;Z{kerk dks ;s fdl izdkj izHkkfor djrs  
gSa \       4 
Give examples of catalyst promoter and catalyst 

poison. How do these affect the activity of a catalyst ? 

¼c½ mRizsjd jklk;fud fØ;k dh nj dks fdl izdkj izHkkfor 
djrs gSa \ 3 
How do catalysts affect the rate of reaction ? 

vFkokvFkokvFkokvFkok    
(Or) 

¼v½ lekaxh rFkk fo”kekaxh mRizsjd dks le>kb,A 4 
Explain Homogeneous and Heterogeneous catalyst. 

¼c½ Lor% mRizsj.k dks le>kb,A 3 
Explain auto-catalyst. 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    
(UNIT—3) 

3- ¼v½ ,Utkbe fdls dgrs gSa \ LVkpZ ls ,YdksgkWy izkIr djus 
ds fofHké inkssa esa iz;qDr ,Utkbe ds uke fyf[k,A 4 
What are enzymes ? Write the name of enzymes 

involved in different steps in getting alcohol from 

starch. 

¼c½ Hkki vklou }kjk ukbVªkscsUthu ds ‘kks/ku dk fl)kUr 
le>kb,A 3 
Explain the principle of purification of Nitrobenzene 

by steam distillation. 
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vFkokvFkokvFkokvFkok    

(Or) 

¼v½ ,UtkbEl fdls dgrs gSa \ ,UtkbEk dks izHkkfor djus okys 

dkjdksa dk o.kZu dhft,A 4 

What are the enzymes ? Describe the factors which 

affect enzymes. 

¼c½ fØLVyhdj.k dh fofHké rduhdksa dks le>kb,A 3 

Explain the different methods of crystallization. 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    

(UNIT—4) 

4- ¼v½ dSfY’k;e] vkWDlhtu (O2) ls vfHkfØ;k djds dSfY’k;e 

vkWDlkbM (CaO) cukrk gSA fdrus xzke dSfY’k;e] 

vkWDlhtu (O2) ds 64 xzke ls vfHkfØ;k djsxk \ 

  ¼ijek.kq Hkkj Ca = 40, O = 16½A 3 

Calcium reacts with O2 (Oxygen gas) and forms 

CaO (Calcium oxide). How many grams of Ca 

(Calcium) will react with 64 g of O2 ? 

(Atomic weight Ca = 40, O = 16) 

¼c½ eksy dh ifjHkk”kk nhft,A 49 xzke H2SO4 (Sulphuric 

acid)  esas eksy dh la[;k fdruh gksxh \ 

 ¼ijek.kq Hkkj H = 1, O = 16, S = 32½A 3 

Define mole. Write number of moles present in 

49 gm of H2SO4 (Sulphuric acid). 

(Atomic weight H = 1, O = 16, S = 32). 
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vFkokvFkokvFkokvFkok    
(Or) 

¼v½ ;fn 1-5 eksy H2 ¼gkbMªkstu xSl½] vkWDlhtu xSl (O2) 

ds 1 eksy ls vfHkfØ;k djrk gS] rc bl vfHkfØ;k esa 
lhek vfHkdeZd D;k gS \ le>kb,A 3 
If 1.5 mole of H2 (hydrogen gas) reacts with 1 mole 

of O2 (Oxygen gas), then what is the limiting  

reactant ? Explain it. 

¼c½ rqY;kadh Hkkj fdls dgrs gSa \ vEy rFkk {kkj ds rqY;kadh 
Hkkj dks le>kb,A 3 
What is equivalent weight ? Discuss the equivalent 

weight of an acid and a base. 

bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- ¼v½ Cp rFkk Cv esa D;k lEcU/k gS \ lehdj.k LFkkfir 
dhft,A      3 
What is the relation between Cp and Cv ? Derive 

equation. 

¼c½ 27°C ij ,fFkyhu dh ngu ,UFkSYih – 3,33,000 dSyksjh 
gSA fLFkj vk;ru ij bldh ngu Å”ek dh x.kuk 27°C 

rkiØe ij dhft, ¼R = 2 dSyksjh½A 3 
At 27°C the enthalpy of combustion of ethylene is  

– 3,33,000 calorie. Calculate the heat of combustion 

of ethylene at constant volume at 27°C (R = 2 Cal.). 

vFkokvFkokvFkokvFkok    
(Or) 

¼v½ Å”ek /kkfjrk D;k gS \ le>kb,A 3 
Explain heat capacity. 

¼c½ Å”ek{kssih vfHkfØ;k dks le>kb,A 3 
Explain exothermic reaction. 
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